tithi(jd,place)

v

Find sunrise time for the given place

v

Get lunar phase by finding the difference between
lunar and solar longitudes during sunrise

v

Find the tithi by dividing the obtained lunar phase
by 12

v

Append the obtained tithi to the answer vector

v

Create offsets with an
interval of 0.25 days

Loop through the offsets

Find tithi for the time at
(sunrise + offset)

| ><%> Next—!

Find ending time of the tithi by /nverse Lagrange's
interpolation of tithis of the offsets

v

Append the ending time to the answer vector.

If tithi is skipped
Yes No

Add leap tithi as the next tithi

v

Find its ending time using the

same offsets

v

Append that to
the answer vector

()

A i
N

[ Return answer ]




